human.

You know Shep, you talki
animals get the best of boll
worlds, you have the strenﬁth.
speed and agility of animals,
plus the intelligence of a
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If 1 wasn't your friend, |
find your words ve
insulting!

What!? o

Really?~ "4 ")

Intelligence of a human!?

Come on!! We're not that

(http://roadapplesalmanac.com. Adaptado.)

Assinale a alternativa que completa a lacuna da tira.

(A) must

(B) am going to
(C) can

(D) have been

(E) would

OF/CINA

OF|CINA

A alternativa é a letra E- would, pois a falta do personagem shep demonstra uma condi¢&o hipotética, algo que ndo &
verdade no presente momento. Sendo assim um “second conditional”’, onde a condicional deve estar no passado
simples “wasn’t”, e o resultado “would”



